Bitspower

DDC TOP Water Tank Integrated Kit

< ZERAA

fic ¥

@ B8

Q@ ¥B#

® KEX

@ BP-ACSTI %88

G BRHEE

® ORBE(BRHER)
@ BP-C17

BRhE

® OZE(DDC TOPH)
DDC TOP

@ LEKZE(BEKTL)

® OEE(DDC TOPR)

® MCP355 B
M4x24 1244

& AR - KA - FEERASHERREERNUEL - ERREH - ERKRHERT -
ET24/\RREKAR - BRERKEREERER  BRBERKMEREMSHIEER -

< |nstallation Guide

Accessories

@ Nuts For M4 Screw
®@ Screw

® BP-ACSTI

® Z-CAP Il With G1/4"x 3
(® O0-Ring For Water Tank
@ BP-C17

(® Tank Clamp For Water Tank Z Series

Z-Tube

O-Ring For DDC TOP
DDC TOP

Fitting (Drain Hole)
O-Ring For DDC TOP

McP355 Pump TN

M4x24 Screw

@ © ®6 e

& Before fill in water,please make sure all the component be installed correctly,
avoidingleaking happen and destroy the PC component.

< RV

fc &%

@ 128

@ 1B

® KEX

@ BP-ACSTI ##sL

G ERNEE

® OEBE(E=NER)
@ BP-C17

ERANE

@ OZE(DDC TOPAR)
DDC TOP

@ LEJKEE(HEKTL)

@ OZE(DDC TOPR)
@ MCP355 5k
M4x24 1842

& IR - KA BEBAMESHERREEBNUEL - EAFEN - BFAKRIERT -
HIT24/0REERKINE - WERLTFEKEREEFEN - BRAERKMSHRERSERIRE -

V1/5%—hR




